
F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ 

Ò$aóAeÑ 5, 2017 

`Í\c `dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ     `ËÀà jÕMÔÐ-100 

Òd ÒLßÐZjÞ 10 VÞ `Íhðe Dre aÊTÐB ÒmM Ð `ÍÒ[ÔL `Íhðe cËmÔ 10 _cée 

1. eÐc [Ð `eÑlÐ _cée d]Ê, ÒNÐ`Ðf J c Ê̂LÊ Ò]ÒMBmÐ ÒaÒf ÒjcÐÒ_ ÒLkÞ LÐkÐe _cée SÐZÞ _\ÞÒm Ð d]Ê 

bÐaÞmÐ, "@«[Ó ]ÞSZ* _cée jcÐ_ @RÞ Ð' ÒdÒ[ÒaÒf ÒNÐ`Ðf bÐaÊRÞ, "dÐÒkD ÒcÐe jaÊWÊÜ Lc _céée _ÐkÞÜ,' c^Ê 

cÊ̈ Òe `hÞmÐ, "AÒe ÒcÐe [ÐÒkÒm jaÊWÊÜ ÒahÞ _cée H\e _ÐkÞÜ Ð' d]Ê, ÒNÐ`Ðf J c^Ê bÞ[Òe LÍcÐ_é¯Òe 

ÒahÞeÊ Lc _cée LÐkÐe aÊTÐB ÒmM Ð  

2. ÒNÐÒV ]Þ_ÞLÞA LÍÞÒLV ÒMfÒe 40 Jbe `Òe Ò^Ð_Þ J ÒLÐkmÞ jcÐ_ Ò²Ðe LeÞ\ÞÒm Ð [Ð `e 3 JbeÒe 

Ò^Ð_Þ* Ò²Ðe 20% aYÞ\ÞmÐÒaÒf ÒLÐkmÞ [Ðe @^Ð e_ LeÞ\ÞÒm Ð 43 Jbe `Òe d]Þ ÒLÐkmÞ* Ò²Ðe 99 

ÒkÐB\ÐH [ÐÒkÒm Ò^Ð_Þ* Ò²Ðe _ÞZà̄  Le Ð 

3. [ce SÒZ jÐ= RÐ[ÞÒe M G N R E G A ÒmMÐ\ÞaÐ ÒNÐÒV SÐcÐ Þ̀uÞRÞ Ð  Òj d]Þ ]`àZ ANÒe 

RÞXÐÒkÐB _ÞSLÊ Ò]ÒM [ÐÒkÒm Òj hvVÞ [ÐLÊ ÒLcÞ[Þ ]ÞhÞa ÒmMÞLÞ Ò]MÐ@ Ð 

 

4. d]Þ                                       kÊH, [ÐÒkÒm                                

 

5. ÒNÐÒV aÞ]ÔÐf¯e 300 Þ̀mÐ* bÞ[Òe d]Þ TÞ@* jÕMÔÐ Ề@* jÕMÔÐe ]ÊB[ó[Ñ¯ÐÕh ÒkÐB\ÐH Ò[Òa Òj 

aÞ]ÔÐf¯e Ề@ J TÞ@* jÕMÔÐ _ÞZàà̄  Le Ð 

6. LcfÐ hk Þ̀RÐ 70 V*ÐÒe 300 LcfÐ LÞZÞ ÒNÐVÐ 1 V*Ð 5 `BjÐÒe aÞLÍÑ LÒm h[LXÐ ÒLÒ[ mÐb aÐ l[Þ 

Òka? 

7. jÐ_eÊ aX LÍÒc jSÐB ÒmM 

 

8. HL aX aNàÒl[Í ABCD bÞ[Òe 3VÞ ÒRÐV aNàÒl[Í @*Ð dÐBRÞ, dÐkÐe                                 

`ÐhéàNÊXÞL QÞ[ÍÒe ]hàÐdÐBRÞ Ð  QÞ[ÍÒe \ÞaÐ Ê̂jeÞ[ @Õhe Òl[Í$f aÐkÐe Le Ð  

 

9. ÒNÐÒV TÊXÞÒe 150eÊ @^ÞL LcfÐ @RÞ Ð d]Þ Òj\ÞeÊ \eLÊ 3VÞ ÒmMHÜ LcfÐ LÐYÞÒm 2VÞ, \eLÊ 4VÞ ÒmMHÜ 

LcfÐ LÐYÞÒm 3VÞ, HaÕ \eLÊ 5VÞ ÒmMHÜ LcfÐ LÐYÞÒm 4VÞ LcfÐ afÞ`ÒX, [ÐÒkÒm Òj TÊXÞÒe @[ÞLcÒe 

ÒLÒ[ÐVÞ LcfÐ @RÞ? 

10. ÒNÐVÞH `eÑlÐÒe SÒZ RÐ[Í NZÞ[, aÞsÐ_, BÕeÐSÑ, JXÞA J jÕ²ó[Òe Ë̀ÀàjÕMÔÐ 100eÊ eMÞ\ÞaÐ _cée e 

@_Ê`Ð[ ÒkmÐ 8 : 9 : 10 : 6 : 7 Ð d]Þ Òj jcÊ]Ð¯ _céee       @Õh _cée eMÞ\ÐH, Ò[Òa 60% aÐ 

[Ð'WÐeÊ @^ÞL eMÞ\ÞaÐ aÞi¯e _cée NÊXÞL _ÞÀà̄  Le Ð 

 

11. 6VÞ LÍcÞL dÊNê jÕMÔÐe kÐeÐkÐeÞ d]Þ 33 ÒkÐB\ÐH Ò[Òa [ÐeÞ bÞ[Òe \ÞaÐ @dÊNê  jÕMÔÐNÊXÞLe kÐeÐkÐeÞ _ÞZà̄  

Le Ð 

S1 

5

3

ba

ba
ba




 _______?2)34( 

5

4
,

20

12
,1.7 of %50,878.0,

7

6



F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ 

Ò$aóAeÑ 5, 2017 

`Í\c `dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ     `ËÀà jÕMÔÐ-100 

Òd ÒLßÐZjÞ 10 VÞ `Íhðe Dre aÊTÐB ÒmM Ð `ÍÒ[ÔL `Íhðe cËmÔ 10 _cée 

1. eÐc [Ð `eÑlÐ _cée d]Ê, ÒNÐ`Ðf J c Ê̂LÊ Ò]ÒMBmÐ ÒaÒf ÒjcÐÒ_ ÒLkÞ LÐkÐe _cée SÐZÞ _\ÞÒm Ð d]Ê 

bÐaÞmÐ, "@«[Ó ]ÞSZ* _cée jcÐ_ @RÞ Ð' ÒdÒ[ÒaÒf ÒNÐ`Ðf bÐaÊRÞ, "dÐÒkD ÒcÐe jaÊWÊÜ Lc _céée _ÐkÞÜ,' c^Ê 

cÊ̈ Òe `hÞmÐ, "AÒe ÒcÐe [ÐÒkÒm jaÊWÊÜ ÒahÞ _cée H\e _ÐkÞÜ Ð' d]Ê, ÒNÐ`Ðf J c^Ê bÞ[Òe LÍcÐ_é¯Òe 

ÒahÞeÊ Lc _cée LÐkÐe aÊTÐB ÒmM Ð  

2. ÒNÐÒV ]Þ_ÞLÞA LÍÞÒLV ÒMfÒe 40 Jbe `Òe Ò^Ð_Þ J ÒLÐkmÞ jcÐ_ Ò²Ðe LeÞ\ÞÒm Ð [Ð `e 3 JbeÒe 

Ò^Ð_Þ* Ò²Ðe 20% aYÞ\ÞmÐÒaÒf ÒLÐkmÞ [Ðe @^Ð e_ LeÞ\ÞÒm Ð 43 Jbe `Òe d]Þ ÒLÐkmÞ* Ò²Ðe 99 

ÒkÐB\ÐH [ÐÒkÒm Ò^Ð_Þ* Ò²Ðe _ÞZà̄  Le Ð 

3. [ce SÒZ jÐ= RÐ[ÞÒe M G N R E G A ÒmMÐ\ÞaÐ ÒNÐÒV SÐcÐ Þ̀uÞRÞ Ð  Òj d]Þ ]`àZ ANÒe 

RÞXÐÒkÐB _ÞSLÊ Ò]ÒM [ÐÒkÒm Òj hvVÞ [ÐLÊ ÒLcÞ[Þ ]ÞhÞa ÒmMÞLÞ Ò]MÐ@ Ð 

 

4. d]Þ                                       kÊH, [ÐÒkÒm                                 
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7. jÐ_eÊ aX LÍÒc jSÐB ÒmM 

 

8. HL aX aNàÒl[Í ABCD bÞ[Òe 3VÞ ÒRÐV aNàÒl[Í @*Ð dÐBRÞ, dÐkÐe                                 
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10. ÒNÐVÞH `eÑlÐÒe SÒZ RÐ[Í NZÞ[, aÞsÐ_, BÕeÐSÑ, JXÞA J jÕ²ó[Òe Ë̀ÀàjÕMÔÐ 100eÊ eMÞ\ÞaÐ _cée e 

@_Ê`Ð[ ÒkmÐ 8 : 9 : 10 : 6 : 7 Ð d]Þ Òj jcÊ]Ð¯ _céee       @Õh _cée eMÞ\ÐH, Ò[Òa 60% aÐ 
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1. When Rama showed his marks to  Jadu, Gopal and Madhu, nobody knew the results of others. 

Jadu thought, “At least two of us have the same score." Gopal thought, “I didn't get the lowest 

score." And Madhu thought , “O, I didn't get the highest score this time." List the scores from 

highest to lowest for Jadu, Gopal and Madhu. 

 

2. Dhoni and Kohli had same score at the end of the 40th over in a One-day cricket match. In the 

next three overs Dhoni’s score increased by 20% while Kohli scored half as many as Dhoni.  If 

Kohli’s score is 99 at the end of the 43rd over then what is Dhoni’s score? 

 

3. Your friend’s T-shirt has M G N R E G A written on the chest.  Write down clearly what he is 

going to see if he stands in front of a mirror and looks at his T-shirt. 

 

4. If                            , then find  

 

5. If the number of girls is 2/3rd of the number of boys in a school with 300 students , find how many 

boys and girls are there in the school. 

 

6. You sold all your oranges at Rs 1.05 per orange after buying 300 oranges at a rate of Rs 70 per  a 

box of 100 oranges.  How much loss or profit did you have? 

 

7. Write the following numbers in increasing order: 

 

 

 

 

8. Figure ABCD is a square. Inside this square three smaller squares                                                              

are drawn with side lengths as labeled.  Find the area of the shaded                                                              

L-shaped region. 

 

 

9. There are more than 150 oranges in a basket.  If you keep picking 3 oranges at a time there will 

be 2 left.  Similarly if you pick 4 oranges at a time 3 will be left, and if you pick 5 oranges at a 

time 4 will be left.  Find what is the minimum number of oranges possible in the basket. 

 

10. The ratio of marks that a student received in Math, Science, English, Odiya and Sanskrit was 

8:9:10:6:7.   The full mark was 100 for each subject.  If he scored 3/5th of the total marks, find his 

marks in all the subjects where he scored 60% or more. 

 

11. If the average of six consecutive even numbers is 33, find the average of five odd numbers 

contained in it. 
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Rtapalli Vidyapitha Shraddha Scholarship Examination 

February 5, 2017 

Subject- Mathematics, Phase I 
 

Time – 1h 15m                                                                                                              F.M. – 100 

Answer any10 questions with clear explanation. Each question is worth 10 points. 


